
MATHS

BOOKS - NCERT EXEMPLAR

COMPARING QUANTITIES

Example

1. A shirt with marked price Rs 800 was sold at

Rs 680. The rate of discount allowed on the

shirt is

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MR0aI3uof7Sr


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

109 %

15 %

20 %

25 %

2. If  of a number is 42, then the number

is

%
7

3

https://dl.doubtnut.com/l/_MR0aI3uof7Sr
https://dl.doubtnut.com/l/_FimiEC7rD2A9


A. 9800

B. 8

C. 1800

D. 180

Answer: C

Watch Video Solution

3. If the cost price of 10 shirts is equal to the

selling price of 8 shirts, then which of the

following is true for the transaction?

https://dl.doubtnut.com/l/_FimiEC7rD2A9
https://dl.doubtnut.com/l/_gBIQSOh79RWm


A. Profit of 25%

B. Loss of 25%

C. Profit of 20%

D. Loss of 20%

Answer: A

Watch Video Solution

4. Rs 1600 lent at a compound interest of 5%

per annum, compounded half yearly for one

year will amount to:

https://dl.doubtnut.com/l/_gBIQSOh79RWm
https://dl.doubtnut.com/l/_27HOt2uYA6m9


A. Rs 1640

B. Rs 1680

C. Rs 1681

D. Rs 1764

Answer: C

Watch Video Solution

5. By selling 50 pens, a shopkeeper lost the

amount equal to the selling price of 10 pens.

His loss per cent is __________.

https://dl.doubtnut.com/l/_27HOt2uYA6m9
https://dl.doubtnut.com/l/_vGPM18kqwytT


Watch Video Solution

6. The discount per cent is calculated on

the_________ price of an article.

Watch Video Solution

7. Amna purchased a toy for Rs 660 including

sales tax. If the rate of sales tax is 10%, then

the selling price of the toy is _________.

Watch Video Solution

https://dl.doubtnut.com/l/_vGPM18kqwytT
https://dl.doubtnut.com/l/_bZqwpBUjK6mx
https://dl.doubtnut.com/l/_b7YMxEJzxSZM


8. When the interest is compounded half

yearly, the number of conversion periods in a

year is four.

Watch Video Solution

9. Arnav buys a book costing Rs 600. If the rate

of sales tax is 7%, then the total amount

payable by him is.

Watch Video Solution

https://dl.doubtnut.com/l/_b7YMxEJzxSZM
https://dl.doubtnut.com/l/_ikhnlv0y7LnS
https://dl.doubtnut.com/l/_kwH8fHgWPPEi


10. After allowing a discount of 15% on the

marked price of an article, it is sold for Rs 680.

Find the marked price of the article is

Watch Video Solution

11. Overhead charges, if any, are sometimes

included in the cost price.

Watch Video Solution

https://dl.doubtnut.com/l/_aJgMspyv1FR3
https://dl.doubtnut.com/l/_T7vwoc8hu0St


12. A number is increased by 20% and then it is

decreased by 20%. Find the net increase or

decrease per cent.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 %

2 %

3 %

4 %

https://dl.doubtnut.com/l/_xsDSs0nWE94x


13. Vishakha offers a discount of 20% on all

the items at her shop and still makes a profit

of 12%. What is the cost price of an article

marked at Rs 280?

Watch Video Solution

14. Find the compound interest on Rs 48,000

for one year at 8% per annum when

compounded half yearly.

Watch Video Solution

https://dl.doubtnut.com/l/_2k5M9A9OZyiX
https://dl.doubtnut.com/l/_LRkcSKZ5LkyU


Exercise

15. Lemons were bought at Rs 60 a dozen and

sold at the rate of Rs 40 per 10. Find the gain

or loss percent.

Watch Video Solution

1. Suppose for the principal P, rate R% and

time T, the simple interest is S and compound

https://dl.doubtnut.com/l/_LRkcSKZ5LkyU
https://dl.doubtnut.com/l/_1gSogqixdd35
https://dl.doubtnut.com/l/_0ETp1Dhgkvil


interest is C. Consider the possibilities. 

(i)  (ii) C=S (iii)  Then

A. only (i) is correct.

B. either (i) or (ii) is correct.

C. either (ii) or (iii) is correct.

D. only (iii) is correct.

Answer: B

Watch Video Solution

C > S C < S

https://dl.doubtnut.com/l/_0ETp1Dhgkvil


2. Suppose a certain sum doubles in 2 years at

r % rate of simple interest per annum or at R%

rate of interest per annum compounded

annually. We have

A. 

B. 

C. R=r

D. can’t be decided

Answer: B

Watch Video Solution

r < R

R < r

https://dl.doubtnut.com/l/_L6R7W8jeKZlI


Watch Video Solution

3. The compound interest on Rs 50,000 at 4%

per annum for 2 years compounded annually

is

A. Rs 4,000

B. Rs 4,080

C. Rs 4,280

D. Rs 4,050

Answer: B

https://dl.doubtnut.com/l/_L6R7W8jeKZlI
https://dl.doubtnut.com/l/_7ltlvZG56wlh


Watch Video Solution

4. If marked price of an article is Rs 1,200 and

the discount is 12% then the selling price of

the article is

A. Rs 1,056

B. Rs 1,344

C. Rs 1,212

D. Rs 1,188

Answer: A

https://dl.doubtnut.com/l/_7ltlvZG56wlh
https://dl.doubtnut.com/l/_WBnt6n79Iyvn


Watch Video Solution

5. If 90% of x is 315 km, then the value of x is

A. 325 km

B. 350 km

C. 350 m

D. 325 m

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WBnt6n79Iyvn
https://dl.doubtnut.com/l/_kjXaVRjfqsAR


6. To gain 25% after allowing a discount of

10%, the shopkeeper must mark the price of

the article which costs him Rs 360 as

A. Rs 500

B. Rs 450

C. Rs 460

D. Rs 486

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hUmCMPgnGVZq


7. If a % is the discount per cent on a marked

price x, then discount is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

× 100
x

a

× 100
a

x

x ×
a

100

100

x × a

https://dl.doubtnut.com/l/_zRLVrrW70ly0
https://dl.doubtnut.com/l/_fUuf19KwTRZY


8. Ashima took a loan of Rs 1,00,000 at 12% p.a.

compounded half- yearly. She paid Rs 1,12,360.

If  is equal to 1.1236, then the period for

which she took the loan is

A. 2 years

B. 1 year

C. 6 months

D.  years

Answer: B

Watch Video Solution

(1.06)2

1
1

2

https://dl.doubtnut.com/l/_fUuf19KwTRZY


9. For calculation of interest compounded half

yearly, keeping the principal same, which one

of the following is true.

A. Double the given annual rate and half

the given number of years.

B. Double the given annual rate as well as

the given number of years.

C. Half the given annual rate as well as the

given number of years.

https://dl.doubtnut.com/l/_fUuf19KwTRZY
https://dl.doubtnut.com/l/_MQYWmhWuIVo5


D. Half the given annual rate and double

the given number of years.

Answer:

Watch Video Solution

10. Shyama purchases a scooter costing Rs

36,450 and the rate of sales tax is 9%, then the

total amount paid by her is

A. Rs 36,490.50

https://dl.doubtnut.com/l/_MQYWmhWuIVo5
https://dl.doubtnut.com/l/_4Qtj6zFbAr2T


B. Rs 39,730.50

C. Rs 36,454.50

D. Rs 33,169.50

Answer: B

Watch Video Solution

11. The marked price of an article is Rs 80 and

it is sold at Rs 76, then the discount rate is

A. 5 %

https://dl.doubtnut.com/l/_4Qtj6zFbAr2T
https://dl.doubtnut.com/l/_ra700YJHFANC


B. 

C. 

D. appx. 11%

Answer: A

Watch Video Solution

95 %

10 %

12. A bought a tape recorder for Rs 8,000 and

sold it to B. B in turn sold it to C, each earning

a profit of 20%. Which of the following is true:

https://dl.doubtnut.com/l/_ra700YJHFANC
https://dl.doubtnut.com/l/_UCUzBjiQ9Mwe


A. A and B earn the same profit.

B. A earns more profit than B.

C. A earns less profit than B.

D. Cannot be decided.

Answer: C

Watch Video Solution

13. Latika bought a teapot for Rs 120 and a set

of cups for Rs 400. She sold teapot at a profit

https://dl.doubtnut.com/l/_UCUzBjiQ9Mwe
https://dl.doubtnut.com/l/_ODRH7T09aNqd


of 5% and cups at a loss of 5%. The amount

received by her is

A. Rs 494

B. Rs 546

C. Rs 506

D. Rs 534

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ODRH7T09aNqd


14. A jacket was sold for Rs 1,120 after allowing

a discount of 20%. The marked price of the

jacket is

A. Rs 1440

B. Rs 1400

C. Rs 960

D. Rs 866.66

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_W6Ds0iWY6woo


15. A sum is taken for two years at 16% p.a. If

interest is compounded after every three

months, the number of times for which

interest is charged in 2 years is

A. 8

B. 4

C. 6

D. 9

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_M4K56W7MuQsf


16. The original price of a washing machine

which was bought for Rs 13,500 inclusive of 8%

VAT is _________.

A. Rs 12,420

B. Rs 14,580

C. Rs 12,500

D. Rs 13,492

Answer:

https://dl.doubtnut.com/l/_M4K56W7MuQsf
https://dl.doubtnut.com/l/_GVTme98PVhM3


Watch Video Solution

17. Avinash bought an electric iron for Rs 900

and sold it at a gain of 10%. He sold another

electric iron at 5% loss which was bought Rs

1200. On the transaction he has a

A. Profit of Rs 75

B. Loss of Rs 75

C. Profit of Rs 30

D. Loss of Rs 30

https://dl.doubtnut.com/l/_GVTme98PVhM3
https://dl.doubtnut.com/l/_q8KuV15zlWrM


Answer: C

Watch Video Solution

18. A TV set was bought for Rs 26,250 including

5% VAT. The original price of the TV set is

A. Rs 27,562.50

B. Rs 25,000

C. Rs 24,937.50

D. Rs 26,245

https://dl.doubtnut.com/l/_q8KuV15zlWrM
https://dl.doubtnut.com/l/_z8Qg7KnQCSOc


Answer:

Watch Video Solution

19.  of  is equal to

A. 20

B. 16

C. 140

D. 64

Answer: B

40 % [100– 20 % of300]

https://dl.doubtnut.com/l/_z8Qg7KnQCSOc
https://dl.doubtnut.com/l/_CuSA1tIHMy9W


Watch Video Solution

20. Radhika bought a car for Rs 2,50,000. Next

year its price decreased by 10% and further

next year it decreased by 12%. In the two years

overall decrease per cent in the price of the

car is

A. 

B. 

C. 

3.2 %

22 %

20.8 %

https://dl.doubtnut.com/l/_CuSA1tIHMy9W
https://dl.doubtnut.com/l/_cGT78aD1D3fF


D. 

Answer: C

Watch Video Solution

8 %

21. _________ is a reduction on the marked price

of the article.

A. VAT

B. Loss

C. Discount

https://dl.doubtnut.com/l/_cGT78aD1D3fF
https://dl.doubtnut.com/l/_l03aX2eYndcR


D. None of these

Answer: C

Watch Video Solution

22. Increase of a number from 150 to 162 is

equal to increase of _________ per cent.

Watch Video Solution

https://dl.doubtnut.com/l/_l03aX2eYndcR
https://dl.doubtnut.com/l/_dbFu7h716Dr1


23. 15% increase in price of an article, which is

Rs 1,620, is the increase of Rs _________.

Watch Video Solution

24. Discount=__________.

Watch Video Solution

25. Discount = Discount % of _________.

Watch Video Solution

https://dl.doubtnut.com/l/_M34CFq9RMiqx
https://dl.doubtnut.com/l/_4YSFoKKIV6bf
https://dl.doubtnut.com/l/_OSe5HiLbFUO6


26. ________ is charged on the sale of an item by

the government and is added to the bill

amount.

A. Sales Tax

B. Direct Tax

C. Income Tax

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_OSe5HiLbFUO6
https://dl.doubtnut.com/l/_ufdb5pOHUKm6


27. What is amount when compounded

annually.

Watch Video Solution

28. Sales tax = tax % of _________.

Watch Video Solution

https://dl.doubtnut.com/l/_ufdb5pOHUKm6
https://dl.doubtnut.com/l/_oNCL57UAUQC7
https://dl.doubtnut.com/l/_aF5PaHuobE8r


29. The time period after which the interest is

added each time to form a new principal is

called the _________.

Watch Video Solution

30. _________ expenses are the additional

expenses incurred by a buyer for an item over

and above its cost of purchase.

Watch Video Solution

https://dl.doubtnut.com/l/_6TCnOdNQKhI5
https://dl.doubtnut.com/l/_JwzljmXG9YrD
https://dl.doubtnut.com/l/_ykgw02pojy7A


31. The discount on an item for sale is

calculated on the _________.

Watch Video Solution

32. When principal P is compounded semi-

annually at r % per annum for t years, then

Amount = _________.

Watch Video Solution

https://dl.doubtnut.com/l/_ykgw02pojy7A
https://dl.doubtnut.com/l/_NMqSlvn6t7Bl


33. Percentages are _________ to fractions with

_________ equal to 100.

Watch Video Solution

34. The marked price of an article when it is

sold for Rs 880 after a discount of 12% is

_________.

Watch Video Solution

https://dl.doubtnut.com/l/_NP9f6oZjh9Ka
https://dl.doubtnut.com/l/_9SRrpMMWYC6N


35. The compound interest on Rs 8,000 for one

year at 16% p.a. compounded half yearly is

_________, given that .

Watch Video Solution

(1.08)2 = 1.1664

36. In the first year on an investment of Rs

6,00,000 the loss is 5% and in the second year

the gain is 10%, the net result is _________.

Watch Video Solution

https://dl.doubtnut.com/l/_UKFVxBh6yjvQ
https://dl.doubtnut.com/l/_igEiXvWUvIr8
https://dl.doubtnut.com/l/_Bovwumxoete6


37. If amount on the principal of Rs 6,000 is

written as 6000  and compound

interest payable half yearly, then rate of

interest p.a. is _________ and time in years

is_________.

Watch Video Solution

[1 + ]
3

5

100

38. By selling an article for Rs 1,12,000 a girl

gains 40%. The cost price of the article was

_________.

Watch Video Solution

https://dl.doubtnut.com/l/_Bovwumxoete6
https://dl.doubtnut.com/l/_kUsxH6fvOIgH


39. The loss per cent on selling 140 geometry

boxes at the loss of S.P. of 10 geometry boxes

is equal to ________.

Watch Video Solution

40. The cost price of 10 tables is equal to the

sale price of 5 tables. The profit per cent in

this transaction is _________.

Watch Video Solution

https://dl.doubtnut.com/l/_kUsxH6fvOIgH
https://dl.doubtnut.com/l/_bkWhzPdUYrvi
https://dl.doubtnut.com/l/_GXRhG0peTn3p


41. Abida bought 100 pens at the rate of Rs

3.50 per pen and pays a sales tax of 4%. The

total amount paid by Abida is _________.

Watch Video Solution

42. The cost of a tape-recorder is Rs 10,800

inclusive of sales tax charged at 8%. The price

of the tape-recorder before sales tax was

charged is _________.

https://dl.doubtnut.com/l/_GXRhG0peTn3p
https://dl.doubtnut.com/l/_2MDGbygvOu1l
https://dl.doubtnut.com/l/_TCcy1lJzMKvv


Watch Video Solution

43. 2500 is greater than 500 by _________%.

A. 200 %

B. 300 %

C. 400 %

D. 500 %

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TCcy1lJzMKvv
https://dl.doubtnut.com/l/_uL4V470B8ZMN
https://dl.doubtnut.com/l/_mNdym3kXGZcS


44. Four times a number is a _________ %

increase in the number.

Watch Video Solution

45. 5% sales tax is charged on an article

marked Rs 200 after allowing a discount of 5%,

then the amount payable is _________.

A. 

B. 

Rs190

Rs190.5

https://dl.doubtnut.com/l/_mNdym3kXGZcS
https://dl.doubtnut.com/l/_0v8Wxp3YIQSE


C. 

D. 

Answer: D

Watch Video Solution

Rs199

Rs199.5

46. To calculate the growth of a bacteria if the

rate of growth is known, the formula for

calculation of amount in compound interest

can be used.

Watch Video Solution

https://dl.doubtnut.com/l/_0v8Wxp3YIQSE
https://dl.doubtnut.com/l/_BZQApuqAD7HE


47. Additional expenses made after buying an

article are included in the cost price and are

known as Value Added Tax.

Watch Video Solution

48. Discount is a reduction given on cost price

of an article.(True/False)

Watch Video Solution

https://dl.doubtnut.com/l/_BZQApuqAD7HE
https://dl.doubtnut.com/l/_QRoix1jKMT7u
https://dl.doubtnut.com/l/_SOagt4aNY3rb
https://dl.doubtnut.com/l/_mvnSVHmAbhGp


49. Compound interest is the interest

calculated on the previous year’s amount.

Watch Video Solution

50. C.P. = M.P. – Discount.

Watch Video Solution

51. A man purchased a bicycle for Rs 1,040 and

sold it for Rs 800. His gain per cent is 30%.

https://dl.doubtnut.com/l/_mvnSVHmAbhGp
https://dl.doubtnut.com/l/_qBKJG5aqk4J8
https://dl.doubtnut.com/l/_d1edyIe5F2gT


Watch Video Solution

52. Three times a number is 200% increase in

the number, then one- third of the same

number is 200% decrease in the number.

Watch Video Solution

53. Simple interest on a given amount is

always less than or equal to the compound

interest on the same amount for the same

https://dl.doubtnut.com/l/_d1edyIe5F2gT
https://dl.doubtnut.com/l/_sgztUDK352XW
https://dl.doubtnut.com/l/_wBJSLssPZUux


time period and at the same rate of interest

per annum.

Watch Video Solution

54. The cost of a sewing machine is Rs 7,000.

Its value depreciates at 8% p.a. Then the value

of the machine after 2 years is Rs 5,924.80.

Watch Video Solution

https://dl.doubtnut.com/l/_wBJSLssPZUux
https://dl.doubtnut.com/l/_UKMNXOjHl7UK


55. If the discount of Rs y is available on the

marked price of Rs x, then the discount

percent is 

Watch Video Solution

× 100 %
x

y

56. Number of students appearing for class X

CBSE examination increases from 91,422 in

1999–2000 to 11,6054 in 2008–09. Increase in

the number of students appeared is

approximately 27%.

https://dl.doubtnut.com/l/_DQatrxX5oqyu
https://dl.doubtnut.com/l/_zJBShhcNIdln


Watch Video Solution

57. Selling price of 9 articles is equal to the

cost price of 15 articles. In this transaction

there is profit of . (True/False)

Watch Video Solution

66 %
2

3

58. The compound interest on a sum of rsp, for

T years at R% per annum is given by

 . Make R as the

subject of the formula .

l = [(1 + )
T

− 1]
R

100

https://dl.doubtnut.com/l/_zJBShhcNIdln
https://dl.doubtnut.com/l/_RiKkGKCpNhYK
https://dl.doubtnut.com/l/_27dqpnJ7D9nJ


Watch Video Solution

59. In case of gain, S.P.

. (True/False)

Watch Video Solution

=
(100 + gain % ) × C. P .

100

60. In case of loss, C.P. 

(True/False)

Watch Video Solution

=
100 × S. P .

100 + Loss%

https://dl.doubtnut.com/l/_27dqpnJ7D9nJ
https://dl.doubtnut.com/l/_bdfs9KT8r17G
https://dl.doubtnut.com/l/_aNDwBXZh00Oy
https://dl.doubtnut.com/l/_xFkStKTF4GqB


61. The value of a car, bought for Rs 4,40,000

depreciates each year by 10% of its value at

the beginning of that year. So its value

becomes Rs 3,08,000 after three years.

Watch Video Solution

62. The cost of a book marked at Rs 190 after

paying a sales tax of 2% is Rs 192. (T/F)

Watch Video Solution

https://dl.doubtnut.com/l/_xFkStKTF4GqB
https://dl.doubtnut.com/l/_M5oY8OKSjFOh
https://dl.doubtnut.com/l/_LJRttB1csaAw


63. The buying price of 5 kg of flour with the

rate Rs 20 per kg, when 5% ST is added on the

purchase is Rs 21.

Watch Video Solution

64. The original price of a shampoo bottle

bought for Rs 324, if 8% VAT is included in the

price is Rs. 300. => (T/F)

Watch Video Solution

https://dl.doubtnut.com/l/_LJRttB1csaAw
https://dl.doubtnut.com/l/_6F06pOWenbC8


65. Sales tax is always calculated on the cost

price of an item and is added to the value of

the bill.

Watch Video Solution

66. In a factory, women are 35% of all the

workers, the rest of the workers being men.

The number of men exceeds that of women by

252. Find the total number of workers in the

factory.

https://dl.doubtnut.com/l/_nND5iosW3Z8M
https://dl.doubtnut.com/l/_zex8alp1LuSs


Watch Video Solution

67. Three bags contain 64.2 kg of sugar. The

second bag contains  of the contents of the

first and the third contains  of what

there is in the second bag. How much sugar is

there in each bag?

Watch Video Solution

4

5

45 %
1

2

68. Find the S.P. if 

M.P. = Rs 5450 and discount = 5%

https://dl.doubtnut.com/l/_zex8alp1LuSs
https://dl.doubtnut.com/l/_3Y4iLao2R8HG
https://dl.doubtnut.com/l/_AawOyhnDBr3a


Watch Video Solution

69. Find the S.P. if 

M.P. = Rs 1300 and discount = 1.5%

Watch Video Solution

70. Find the M.P. if 

S.P. = Rs 495 and discount = 1%

Watch Video Solution

https://dl.doubtnut.com/l/_AawOyhnDBr3a
https://dl.doubtnut.com/l/_3rORlDA1RTsn
https://dl.doubtnut.com/l/_C3rSLwEMbnb0
https://dl.doubtnut.com/l/_pra6guRseyzw


71. Find the M.P. if 

S.P. = Rs 9,250 and discount 

Watch Video Solution

= 7 %
1

2

72. Find discount in per cent when 

M.P. = Rs 625 and S.P. = Rs 562.50

Watch Video Solution

https://dl.doubtnut.com/l/_pra6guRseyzw
https://dl.doubtnut.com/l/_YcfXqqzXyjRS


73. Find discount in per cent when 

M.P. = Rs 900 and S.P. = Rs 873

Watch Video Solution

74. The marked price of an article is Rs 500.

The shopkeeper gives a discount of 5% and

still makes a profit of 25%. Find the cost price

of the article.

Watch Video Solution

https://dl.doubtnut.com/l/_zn8VwuSke7Yz
https://dl.doubtnut.com/l/_9Ra5nW1xIyAf
https://dl.doubtnut.com/l/_xIg6E6MXkZcp


75. In 2007 – 08, the number of students

appeared for Class X examination was 1,05,332

and in 2008–09, the number was 1,16,054. If

88,151 students pass the examination in 2007–

08 and 103804 students in 2008–09. What is

the increase or decrease in pass % in Class X

result?

Watch Video Solution

76. A watch worth Rs 5400 is offered for sale at

Rs 4,500. What per cent discount is offered

https://dl.doubtnut.com/l/_xIg6E6MXkZcp
https://dl.doubtnut.com/l/_v2jbffSC8VRS


during the sale?

Watch Video Solution

77. In the year 2001, the number of malaria

patients admitted in the hospitals of a state

was 4,375. Every year this number decreases by

8%. Find the number of patients in 2003.

Watch Video Solution

https://dl.doubtnut.com/l/_v2jbffSC8VRS
https://dl.doubtnut.com/l/_D8CMdZrcLUJ7


78. Jyotsana bought a product for Rs 3,155

including 4.5% sales tax. Find the price before

tax was added.

Watch Video Solution

79. An average urban Indian uses about 150

litres of water every day. 

https://dl.doubtnut.com/l/_mqPjkyNiH7rY
https://dl.doubtnut.com/l/_HERmFTDbFmbh


 


(a) What per cent of water is used for bathing

and sanitation together per day? 

(b) How much less per cent of water is used

for cooking in comparison to that used for

bathing? 

(c) What per cent of water is used for drinking,

cooking and gardening together?

https://dl.doubtnut.com/l/_HERmFTDbFmbh


Watch Video Solution

80. In 1975, the consumption of water for

human use was about 3850 cu.km/year. It

increased to about 6000 cu.km/year in the

year 2000. Find the per cent increase in the

consumption of water from 1975 to 2000. Also,

find the annual per cent increase in

consumption (assuming water consumption

increases uniformly).

Watch Video Solution

https://dl.doubtnut.com/l/_HERmFTDbFmbh
https://dl.doubtnut.com/l/_PSC3tSO8aTAS


81. Harshna gave her car for service at service

station on 27-05-2009 and was charged as

follows: 

(a) 3.10 litres engine oil @ Rs 178.75 per litre

and VAT @ 20%. 

(b) Rs 1,105.12 for all other services and VAT @

12.5%. 

(c) Rs 2,095.80 as labour charges and service

tax @10%. 

(d) 3% cess on service Tax. 

Find the bill amount.

Watch Video Solution

https://dl.doubtnut.com/l/_eT7xkX1hFqu6


82. Given the principal = Rs 40,000, simple rate

of interest = 8% p.a. Find the total amount

after 3 years.

Watch Video Solution

83. In Delhi University, in the year 2009 – 10,

49,000 seats were available for admission to

various courses at graduation level. Out of

these 28,200 seats were for the students of

https://dl.doubtnut.com/l/_eT7xkX1hFqu6
https://dl.doubtnut.com/l/_DCiprbteGHW4
https://dl.doubtnut.com/l/_S72KhIkqr09V


General Category while 7,400 seats were

reserved for SC and 3,700 seats for ST. Find the

per centage of seats available for 

(i) Students of General Category. 

(ii) Students of SC Category and ST Category

taken together.

Watch Video Solution

84. Prachi bought medicines from a medical

store as prescribed by her doctor for Rs 36.40

https://dl.doubtnut.com/l/_S72KhIkqr09V
https://dl.doubtnut.com/l/_aGFz7MqdKG0L


including 4% VAT. Find the price before VAT

was added.

Watch Video Solution

85. Kritika ordered one pizza and one garlic

bread from a pizza store and paid Rs 387

inclusive of taxes of Rs 43. Find the tax%.

Watch Video Solution

https://dl.doubtnut.com/l/_aGFz7MqdKG0L
https://dl.doubtnut.com/l/_IeD3yYBwWtsp


86. Arunima bought household items whose

marked price and discount % is as follows: 

 


Find the total amount of the bill she has to

pay.

Watch Video Solution

87. Devangi’s phone subscription charges for

the period 17-02-09 to 16-03-09 were as follows

: 

https://dl.doubtnut.com/l/_RoQSlH0FRJLf
https://dl.doubtnut.com/l/_m4QavxxNbH6e


 


Find the final bill amount if 3% education cess

was also charged on service tax.

Watch Video Solution

88. Shyam deposited in a bank Rs 7500 for 6

months at
 the rate of 8% interest

compounded quarterly. Find the amount he

received
after 6 months.

Watch Video Solution

https://dl.doubtnut.com/l/_m4QavxxNbH6e
https://dl.doubtnut.com/l/_eP3sB50lRQez


89. Babita bought 160 kg of mangoes at Rs 48

per kg. She sold 70% of the mangoes at Rs 70

per kg and the remaining mangoes at Rs 40

per kg. Find Babita’s gain or loss per cent on

the whole dealing.

Watch Video Solution

90. A shopkeeper was selling all his items at

25% discount. During the off season, he

offered 30% discount over and above the

https://dl.doubtnut.com/l/_UQilOP4AV1uB
https://dl.doubtnut.com/l/_8Yp3TZWF90N4


existing discount. If Pragya bought a skirt

which was marked for Rs 1,200, how much did

she pay for it?

Watch Video Solution

91. Ayesha announced a festival discount of

25% on all the items in her mobile phone

shop. Ramandeep bought a mobile phone for

himself. He got a discount of Rs 1,960. What

was the marked price of the mobile phone?

Watch Video Solution

https://dl.doubtnut.com/l/_8Yp3TZWF90N4
https://dl.doubtnut.com/l/_jVQNLhD8ExUQ


92. Find the difference between Compound

Interest and Simple Interest on Rs 45,000 at

12% per annum for 5 years.

Watch Video Solution

93. A new computer costs Rs 1,00,000. The

depreciation of computers is very high as new

models with better technological advantages

are coming into the market. The depreciation

https://dl.doubtnut.com/l/_jVQNLhD8ExUQ
https://dl.doubtnut.com/l/_xdvelk8T5wa0
https://dl.doubtnut.com/l/_Lal7jbW6Ps5n


is as high as 50% every year. How much will

the cost of computer be after two years?

Watch Video Solution

94. The population of a town was decreasing

every year due to migration, poverty and

unemployment. The present population of the

town is 6,31,680. Last year the migration was

4% and the year before last, it was 6%. What

was the population two years ago?

Watch Video Solution

https://dl.doubtnut.com/l/_Lal7jbW6Ps5n
https://dl.doubtnut.com/l/_z4mF8ZGW7yRV


95. Lemons were bought at Rs 48 per dozen

and sold at the rate of Rs 40 per 10. Find the

gain or loss per cent.

Watch Video Solution

96. If the price of petrol, diesel and LPG is

slashed as follows: 

https://dl.doubtnut.com/l/_z4mF8ZGW7yRV
https://dl.doubtnut.com/l/_wMTn9XTNMIIN
https://dl.doubtnut.com/l/_hBqxUPKbfBPO


 


Complete the above table.

Watch Video Solution

97. What is the percentage increase or

decrease in the number of seats won by A, B, C

and D in the general elections of 2009 as

https://dl.doubtnut.com/l/_hBqxUPKbfBPO
https://dl.doubtnut.com/l/_k79iflvdP0nK


compared to the results of 2004? 

Watch Video Solution

98. How much more per cent seats were won

by X as compared to Y in Assembly Election in

https://dl.doubtnut.com/l/_k79iflvdP0nK
https://dl.doubtnut.com/l/_BESqGT9Yx9NA


the state based on the data given below. 

Watch Video Solution

99. Ashima sold two coolers for Rs 3,990 each.

On selling one cooler she gained 5% and on

selling the the other she suffered a loss of 5%.

https://dl.doubtnut.com/l/_BESqGT9Yx9NA
https://dl.doubtnut.com/l/_uIfxLYeP3D76


Find her overall gain or loss % in whole

transaction.

Watch Video Solution

100. A tradesman marks his goods 25% above

the cost price and allows his customers 12 %

reduction on their bills. What percent profit

does he make?

Watch Video Solution

https://dl.doubtnut.com/l/_uIfxLYeP3D76
https://dl.doubtnut.com/l/_mhybDQ2uoZpt


101. On selling a chair for Rs 736, a shopkeeper

suffers a loss of 8%. At what price should he

sell it so as to gain 8%?

Watch Video Solution

102. A dining table is purchased for Rs 3,200

and sold at a gain of 6%. If a customer pays

sales tax at the rate of 5%. How much does the

customer pay in all for the table?

Watch Video Solution

https://dl.doubtnut.com/l/_OnIR3F42cown
https://dl.doubtnut.com/l/_07SSctDjNk1C


103. Achal bought a second-hand car for Rs

2,25,000 and spend Rs 25,000 for repairing. If

he sold it for Rs 3,25,000, what is his profit per

cent?

Watch Video Solution

104. A lady bought an air-conditioner for Rs

15,200 and spent Rs 300 and Rs 500 on its

transportation and repair respectively. At what

price should she sell it to make a gain of 15%?

https://dl.doubtnut.com/l/_07SSctDjNk1C
https://dl.doubtnut.com/l/_fpH48UW1kDPK
https://dl.doubtnut.com/l/_qZY90mPzbxeC


Watch Video Solution

105. What price should a shopkeeper mark on

an article that costs him Rs 600 to gain 20%,

after allowing a discount of 10%

Watch Video Solution

106. Brinda purchased 18 coats at the rate of

Rs 1,500 each and sold them at a profit of 6%.

If customer is to pay sales tax at the rate of

https://dl.doubtnut.com/l/_qZY90mPzbxeC
https://dl.doubtnut.com/l/_6GNkRu9Q5dEt
https://dl.doubtnut.com/l/_Yk2FWryMS7kQ


4%, how much will one coat cost to the

customer and what will be the total profit

earned by Brinda after selling all coats?

Watch Video Solution

107. Mr. Arora borrowed Rs 40960 from a bank

to start a play school. If the bank charges

12.5% per annum compounded half-yearly,

what amount will he have to pay after 1.5

years?

Watch Video Solution

https://dl.doubtnut.com/l/_Yk2FWryMS7kQ
https://dl.doubtnut.com/l/_7VPOShpDDhnw


108. The following items are purchased from

showroom: 

T-Shirt worth Rs 1200. 

Jeans worth Rs 1000. 

2 Skirts worth Rs 1350 each. 

What will these items cost to Shikha if the

sales tax is 7%?

Watch Video Solution

https://dl.doubtnut.com/l/_7VPOShpDDhnw
https://dl.doubtnut.com/l/_Jjc4zlFHhYdb


109. Music CD originally priced at Rs 120 is on

sale for 25% off. What is the S.P.?

Watch Video Solution

110. Store A and Store B both charge Rs 750

for a video game. This week the video game is

on sale for Rs 600 at Store B and for 25% off

at Store A. At which store is the game less

expensive?

Watch Video Solution

https://dl.doubtnut.com/l/_qKYFFH7vc2bk
https://dl.doubtnut.com/l/_HaWOtla6vjCl


111. At a toy shop price of all the toys is

reduced to 66% of the original price. 

(a) What is the sale price of a toy that

originally costs Rs 90? 

(b) How much money would you save on a toy

costing Rs 90?

Watch Video Solution

112. A store is having a 25% discount sale.

Sheela has a Rs 50 gift voucher and wants to

https://dl.doubtnut.com/l/_HaWOtla6vjCl
https://dl.doubtnut.com/l/_EKQYy1xtYdl3
https://dl.doubtnut.com/l/_kkHi8A4e3iD7


use it to buy a board game marked for Rs 320.

She is not sure how to calculate the

concession she will get. The sales clerk has

suggested two ways to calculate the amount

payable. 

Method 1: Subtract Rs 50 from the price and

take 25% off the resulting price. 

Method 2: Take 25% off the original price and

then subtract Rs 50. 

a. Do you think both the methods will give the

same result? If not, predict which method will

be beneficial for her. 

b. For each method, calculate the amount

https://dl.doubtnut.com/l/_kkHi8A4e3iD7


Sheela would have to pay. Show your work. 

c. Which method do you think stores actually

use? Why?

Watch Video Solution

113. Living on your own: Sanjay is looking for

one-bedroom appartment on rent. At Neelgiri

appartments, rent for the first two months is

20% off. The one bedroom rate at Neelgiri is

Rs 6,000 per month. At Savana appartments,

the first month is 50% off. The one bedroom

https://dl.doubtnut.com/l/_kkHi8A4e3iD7
https://dl.doubtnut.com/l/_DveP8s9moWRg


rate at Savana appartments is Rs 7000 per

month. Which appartment will be cheaper for

the first two months? By how much?

Watch Video Solution

114. For an amount, explain why, a 20%

increase followed by a 20% decrease is less

than the original amount.

Watch Video Solution

https://dl.doubtnut.com/l/_DveP8s9moWRg
https://dl.doubtnut.com/l/_TysrLRkDVigN


115. Sunscreens block harmful ultraviolet (UV)

rays produced by the sun. Each sunscreen has

a Sun Protection Factor (SPF) that tells you

how many minutes you can stay in the sun

before you receive one minute of burning UV

rays. For example, if you apply sunscreen with

SPF 15, you get 1 minute of UV rays for every 15

minutes you stay in the sun.
 A label on a

sunscreen with SPF 30 claim that the

sunscreen blocks about 97% of harmful UV

rays. Assuming the SPF factor is accurate, is

this claim true? Explain.

https://dl.doubtnut.com/l/_rZ3dgJb7hqaz


Watch Video Solution

116. A real estate agent receives Rs 50,000 as

commission, which is 4% of the selling price.

At what price does the agent sell the

property?

Watch Video Solution

117. With the decrease in prices of tea by 15%

Tonu, the chaiwallah, was able to buy 2 kg

https://dl.doubtnut.com/l/_rZ3dgJb7hqaz
https://dl.doubtnut.com/l/_o5uvo1SVhPYw
https://dl.doubtnut.com/l/_6Zh4aQipPJhO


more of tea with the same Rs 45 that he spent

each month on buying tea leaves for his chai

shop. What was the reduced price of tea?

What was the original price of tea?

Watch Video Solution

118. Below is the Report Card of Vidit Atrey.

Vidit’s teacher left the last column blank. Vidit

is not able to make out, in which subject he

performed better and in which he needs

improvement. Complete the table to help Vidit

https://dl.doubtnut.com/l/_6Zh4aQipPJhO
https://dl.doubtnut.com/l/_aZO8W0Mq6kS2


know his comparative performance. 

Watch Video Solution

119. Sita is practicing basket ball. She has

managed to score 32 baskets in 35 attempts.

https://dl.doubtnut.com/l/_aZO8W0Mq6kS2
https://dl.doubtnut.com/l/_HQmx5uIt3Hn9


What is her success rate in per centage?

Watch Video Solution

120. During school hours, Neha finished 73% of

her homework and Minakshi completed 5/8 of

https://dl.doubtnut.com/l/_HQmx5uIt3Hn9
https://dl.doubtnut.com/l/_36p4KFhGbTLk


her homework. Who must finish a greater per

cent of homework?

Watch Video Solution

121. Rain forests are home to 90,000 of the

2,50,000 identified plant species in the world.

What per cent of the world’s identified plant

species are found in rain forests?

Watch Video Solution

https://dl.doubtnut.com/l/_36p4KFhGbTLk
https://dl.doubtnut.com/l/_VJzJ7dmky7LT


122. Madhu’s room measures 6m × 3m. Her

carpet covers 8m2. What per cent of floor is

covered by the carpet?

Watch Video Solution

123. The human body is made up mostly of

water. In fact, about 67% of a person’s total

body weight is water. If Jyoti weights 56 kg,

how much of her weight is water?

Watch Video Solution

https://dl.doubtnut.com/l/_pDka12z1GLyq
https://dl.doubtnut.com/l/_lnHrHNWF5h8W


124. The per cent of pure gold in 14 carat gold

is about 58.3%. A 14 carat gold ring weighs 7.6

grams. How many grams of pure gold are in

the ring?

Watch Video Solution

125. A student used the proportion

 to find 5% of 32. What did the

student do wrong?

Watch Video Solution

=
n

100

5

32

https://dl.doubtnut.com/l/_lnHrHNWF5h8W
https://dl.doubtnut.com/l/_YVNHXNhVGP1g
https://dl.doubtnut.com/l/_xMc2maYRY4K0


Appications Gamess And Puzzles

126. The table shows the cost of sunscreen of

two brands with and without sales tax. Which

brand has a greater sales tax rate? Give the

sales tax rate of each brand. 

Watch Video Solution

https://dl.doubtnut.com/l/_xMc2maYRY4K0
https://dl.doubtnut.com/l/_eliz92Wc51b8
https://dl.doubtnut.com/l/_2gloAjW9S1pb


1. Complete the grid using the clues given

below. 

Clues 

Down 

(1) The total cost price of a TV set whose cost

price is Rs 6,900 and money spent on repairs is

Rs 300. 

(2) The price of a cycle is Rs 800. It is now

increased by 20%. The new sale price is Rs

____________. 

(3) The list price of a bag is Rs 220. A discount

of 15% is offered to make the sales price as Rs

https://dl.doubtnut.com/l/_2gloAjW9S1pb


___________. 

Across 

(1) Discount on an item marked at Rs 800 and

sold for Rs 721. 

(3) The selling price of a fan costing Rs 1,200 if

a profit of Rs 5% is to be made. 

(4) The cost price of an item sold at Rs 1,600 at

a 100% profit. 

(5) The profit per cent of an item marked at Rs

https://dl.doubtnut.com/l/_2gloAjW9S1pb


Think And Discuss

800 and sold at Rs. 1,360. 

Watch Video Solution

https://dl.doubtnut.com/l/_2gloAjW9S1pb
https://dl.doubtnut.com/l/_gLn6a8WgF3bY


1. Lemons were bought at Rs 60 a dozen and

sold at the rate of Rs 40 per 10. Find the gain

or loss percent.

Watch Video Solution

2. Lemons were bought at Rs 60 a dozen and

sold at the
rate of Rs 60 per 10. Find the gain

or loss percent.

Watch Video Solution

https://dl.doubtnut.com/l/_gLn6a8WgF3bY
https://dl.doubtnut.com/l/_FniDnHN8DiEg

